SHEET:
MODELS SHORT LONG MODELS FLUSH " OF 4 REVISIONS
CLOPAY REV. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
GALLERY GD25U, GRESU GD2LU, GReLU CLOPAY CLASSIC | 9202, HDPCE0 02 — [ 7/22/14 o SH REVISED FOR TOI; UPDATED REV TO MATCH 104810.
HOLMES
ARTISTRY AR2SU AR2LU HOLMES CLASSIC 7202
IDEAL
EXPRESSIONS ED2sSuU ED2LU IDEAL CLASSIC | 8202, MFC68U
1) 20 GA. BACKER PLATE AT EACH INTERMEDIATE
OPTIONAL IMPACT RESISTANT GLAZING. SEE SECTION B-B E(-IIIEJGE Lgcm?oﬁ EBACKER PLATES ATTACHEDEV?,ITH
ON SHEET TWO FOR DETAILS. LONG GLAZING SHOWN; DOUBLE-SIDED ACRYLIC ADHESIVE TO BACK OF DOOR.
SHORT GLAZING ALSO APPROVED. GLAZING NOT TO EXCEED
2812 m 13" ——
/ { e (2) GALV. STEEL TOP ROLLER BRACKETS. SEE
l " SECTION A—A ON SHEET THREE FOR DETALS.
| ° / —
T # # # ” # # # ”
0 ” ” ul ” a a a i 16 GA. MIN. GALV.
Bk + A STEEL END STILES.
~ o i
HEC ¢ - “\viEw 8"
z ¥ ——ViEW "C”
=g
28
C [N =]
it
i3 &
! \TWO POINT LOCKING
/ INTO TRACK.
d<U~BAR.
—} s T-STRUT. ‘_
i i N_ BRACKET
, MAX. DOOR WIDTH = 18'-2" USED FOR
INSI VATION BOTTOM
DOUBLE END SNAP LATCH ENGAGES END
STILE. ONTO VERTICAL TRACK. e
e JE e ey '
| SECHING SLIDE BOLT LOCK :
B UP 70 80 4 ENGAGES INTO
53 10 100° 5 =Ny VERTICAL TRACK. OUTSIDE :
103" 10 _12'0° 6 STILE. ONE LOCK ON HANDLE. G6E AR
12'3* 10 140" 7 EACH SIDE OF  oursiDE END 1P ENGAGES IN
14’3 70 16'0° 8 DOOR. KEYED STILE. . - TRACK ON
MAX SECTION HEIGHT: 24- HANDLE. EACH SIDE
OF DOOR.
THIS DOOR MEETS OR EXCEEDS THE DESIGN Mo DE_S1_2f BOLT WSIDE. HANELE
LOADS FOR THE ULTIMATE WIND SPEEDS LISTED LOCK OPTION., OUTSIDE KEYED LOCK WITH EggﬁngAgEgggth%CK WiTH
— BELOW ACCORDING TO THE FLORIDA BUILDING w : —
CODE OR THE INTERNATIONAL BUILDING CODE
(BASED ON ASCE7-05) FOR THE FOLLOWING
CONDITIONS: 1) ENCLOSED BUILDING, 2) DOOR
HAS 2' OF WIDTH IN BUILDING'S END ZONE, 3)
ANY ROOF SLOPE, AND 4) TESTING IN
ACCORDANCE WITH ANSI/DASMA 108, MANUFACTURING PRODUCT CODE
SITE-SPECIFIC CALCULATIONS BY A QUALIFIED DSIU—1F471
DESIGN PROFESSIONAL MAY DIFFER.
DESIGN LOADS: +38.0 P.S.F. & —42.0 P.S.F.
DESIGN WIND 135 | 140 | 155 TEST LOADS: +57.0 P.S.F. & -63.0 P.SF. PART NO.: N/A
SPEED (MPH) Unless Stated Otherwise | (I cln ay as 5 Dghe@gg{l)evgsrg WINDLDAD RATING
EXPOSURE TOLERANCES ore asoa,
Be | BB B Tel. No. 513-770-4800
el 0 = +.031 Bmldmg Products Company Fﬁx N(o) 513-770-4853 \/\/ 6 D P 3 8 T
MEAN RODF HEIGHT | 25 15° 30° .0'88 ” ::g(‘)g DESCRIPTION: 2" GALLERY PUR DOORS 18'2"W (SEE TABLE)
0000 = +.001 |DRAWN BY: SH DATE: 1/10/13 | SCALE: NTS DWG.
DESIGN \FNGJR‘EER Degrees = +1/2°  [CHECKED BY: SH DATE: 1/10/13 |SHEET 1 OF 4 |SIZE
MARK WESTERFIELD, P.E. Unless Stated Otherwise
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.| DWG. NO.: 104821 VER: TDI



4

MODELS SHORT LONG MODELS FLUSH e BEVISIONS
TR 2 OF 4 [REv. NO| ZONE: | DATE: | ECN NO.[ APPVD: DESCRIPTION
GALLERY GD2su, GRasu GD2LU, GRaLU CLOPAY CLASSIC | 9202, HDPC20 = — — — = SoE Baveih Tieiony B ElECT GiE
HOLMES
ARTISTRY AR2SU AR2LU HOLMES CLASSIC 7202
IDEAL
EXPRESSIONS ED2SU ED2LU IDEAL CLASSIC | 8202, MFC68U
IMPACT—RESISTANT CONSTRUCTION:
SOLID DOORS (NO GLAZING) OR DOORS WITH OPTIONAL IMPACT—RESISTANT GLAZING ARE
IMPACT—~RESISTANT. OPTIONAL IMPACT RESISTANT ASSEMBLY CONSISTS OF ALUMINUM
FRONT FRAME GE LEXAN MR10, AN APPROVED CC1 PLASTIC IN ACCORDANCE WITH
IBC/FBC 2606.
THE ENTIRE DOOR ASSEMBLY INSTALLED IN COMPLIANCE WITH THIS SECTION MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE AND INTERNATIONAL BUILDING
CODE AND IS LARGE— AND SMALL—MISSILE IMPACT RESISTANT.
SECTION B—B (IMPACT—RESISTANT GLAZING OPTION)
INSULATED DOOR SECTION.
DECORATIVE FACADE:
(16) #8-18 «x
1/2" TEK SCREW.
175 _
g
5
R
Ny
N
8
(12) #8-18 x 1/2" 8 RETAINER.
TEK SCREW. 8 ALUMINUM FRAME.
1/4" THICK POLYCARBONATE
GLAZING.
ST B MANUFACTURING PRODUCT CODE
DSIU-1F 471
- DESIGN LOADS: +38.0 P.S.F. & —42.0 P.S.F.
. A TEST LOADS: +57.0 P.S.F. & —63.0 P.S.F. PART NO.: N/A
B Unless Stoted Otherwise | (D ﬂl 3565 Dghe@gg{l)ev@gg WINDLOAD RATING
A TOLERANCES oe | guum WIOPAY 1% Si50en0 |\ /& P IQT
iy 3 0 = +.031 Building Products Company Fax No. 513-770-4853
i 72//2’;[‘/05/ dgg 5 i-g(‘)g DESCRIPTION: 2" GALLERY PUR DOORS 18'2"W (SEE TABLE)
3 ‘ = .

(i i 0000 = +.001 DRAWN BY: SH DATE: 1/10/13 | SCALE: NTS DWG.
DESIGN'EN‘GIN&FR“’J Oegrees = +1/2° (CHECKED BY: SH DATE: 1/10/13 |SHEET 2 OF 4 [SIZE
MARK WESTERFIEEER-PE. Unless Stated Otherwise :

FLORIDA P.E. #48495. NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.| DWG. NO.: 104821 VER: TDI



SHEET:
MODELS SHORT LONG MODELS FLUSH 3 OF 4 REVISIONS
CLOPAY REV. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
ChLL o GD2SU, GR2SU GD2LU, GRaLU CLOPAY CLASSIC | 9202, HDPC20 = = = = = T ey
HOLMES
afii oy AR2SU AR2LU HOLMES CLASSIC 7202
EBE LTI ED2SuU ED2LU IDEAL CLASSIC | 8202, MFC68U
SILICONE FILLED CHANNEL SEPARATES
D FRONT AND BACK SKIN OF DOOR.
IN THE CASE OF GYPSUM WALLBOARD LOCATED AT OR NEAR THE DOOR OPENING
LOCATION THERE ARE TWO ACCEPTABLE ALTERNATIVES:
1) THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR OPENING AND 2X6 URETHANE CORE, — 12 GA. GALV. STEEL TOP ROLLER
SOUTHERN YELLOW PINE WOOD JAMBS MOUNTED DIRECTLY TO THE 2.4 P.C.F. DENSITY. TT——BRACKET. EACH BRACKET ATTACHED
—— SUPPORTING STRUCTURE TO CREATE THE MOUNTING SURFACE. _ WITH (4) #14x5/8" SHEET METAL
ALTERNATIVELY, THE BRACKETS MAY BE ATTACHED DIRECTLY TO THE ] SCREWS.
SUPPORTING STRUCTURE. SEE DETAIL BELOW. THE CENTER OF SCREW HOLE —
MUST BE AT LEAST %" FROM BOTH EDGES FOR A 5/16" LAG SCREW. [
2)IF THE WALLBOARD IS NOT CUT AWAY TO EXPOSE THE UNDERLYING
STRUCTURE (WOOD FRAMING MEMBERS), A 2X6 SOUTHERN YELLOW PINE
WOOD BUCK OVER SHALL BE INSTALLED THE WALLBOARD FRAMING THE ' "
OPENING USING THE JAMB ATTACHMENT FASTENERS LISTED BELOW. HOWEVER, TONGLE Hid0 'GRODVE. JAINTS. ~y 4 thiced el LG LR
THE JAMB ATTACHMENT FASTENERS MUST BE OF A SUFFICIENT INCREASED (DR"E"[‘;'Ng Qgg“ gr% el
C LENGTH TO ACCOUNT FOR THE THICKNESS OF THE WALLBOARD TO ENSURE — 4 — BAKED—ON 'MTED 25H GOit rEPLEE 76
PROPER FASTENER EMBEDMENT INTO THE STRUCTURAL FRAMING MEMBERS POLYESTER PA'FN Lol L
OF THE SUPPORTING STRUCTURE. BOTH SIDES OF STEEL :
4=174" _ 14 GA. GALV. ROLLER HINGE. EACH HINGE
1/2° FROM EDGE L FASTENED TO END STILES WITH (4)
' I‘F #14x5/8" SHEET METAL SCREWS VIEW "D" #14x5/8" SHEET METAL AND (2)
4" TALL TAPER STRUT. 1/4 x?/j SELF TAPPING SCREWS. SEE
A 0.062" MIN. GALV. STEEL, VIEW "B
-’ : 80 KSI. MIN.
WA e e T 3" TALL X 20 GA. GALV. 80 KSI STEEL
i U-BARS. ONE U-BAR ON EVERY
e OTHER SECTION. ATTACH WITH TWO
1/4"x3/4" SELF 1/4"x3/4" SELF TAPPING SCREWS PER
TAPPING SCREWS. o e
14 GA. END HINGES 18 GA. (MIN.) INTERMEDIATE HINGE ‘ ™ ONE 4" T_STRUT PER SECTION. (SEE
VIEW 8" VIEW C / VIEW "D") EACH T-STRUT ATTACHED AT
EACH HINGE LOCATION WITH (2)
B PREPARATION OF JAMBS BY OTHERS. 57 G A0 Wikl EEERER S FJASe BELE TASEING: SOREN,
SKIN WITH G—40 MIN. GALV. BAKED—-ON
VERTICAL JAMB ATTACHMENT (WOOD FRAME BUILDINGS): POLYESTER PAINTED TOP COAT APPLIED T TTOM BRACKET ATTACHED
3/8"3" LAG SCREWS ON 19" CENTERS. 1-1/8" 0.0, WASHER REQUIRED. LAG SCREWS TO BOTH SIDES OF STEEL SKIN. a/' WITH 1) Foine 7o% ShEeT METAL SCeRis.
MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING SURFACE. :
HORIZONTAL JAMBS DO NOT TRANSFER LOAD. ALUMINUM EXTRUSION & VINYL WEATHERSTRIP.
VERTICAL JAMB ATTACHMENT (C-90 BLOCK OR 2,000 PSI MIN., CONCRETE COLUMN):
== 3/8"x3" SLEEVE ANCHOR BOLTS ON 11" CENTERS (2,000 PSI MIN. CONCRETE).
WASHERS INCLUDED WITH SLEEVE ANCHORS. SECTION A-A (SIDE VIEW)
OR
1/4"x3" TAPCON SCREWS ON 9" CENTERS (2,000 PSI MIN. CONCRETE) OR 5" CENTERS
(C=90 BLOCK), 1" 0.D. WASHERS REQUIRED WITH TAPCONS.
ANCHORS MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING HEEEREORICE: R BH0E
SURFACE. HORIZONTAL JAMBS#DQ.NOT, . TRANSFER LOAD. DSIU-1F471
T BE T W DESIGN LOADS: +38.0 P.S.F. & —42.0 P.S.F. -
A / s "’FT sy TEST LOADS: +57.0 P.S.F. & —-63.0 P.S.F. PART NO.: N/A
OTHER JAMB CONFIGURATIONS: REFER “JO-DABMA, TDS—161. A LICENSED DESIGN Unless Stoted Otherwise | (D 8585 Duke Boulevard WINDLOAD RATING
PROFESSIONAL MAY ALSO<BE EMPLOYED TO "APPROVE ALTERNATE FASTENERS AND/OR TOLERANCES orc | nlﬂpay Yoson, QH 43000 430 W6 DPR8T
JAMB CONFIGURATIONS. bk S Y L 0 = +.031 Building Products Company Fax No. 513-770-4853
. : A ‘?Zy/fl (00 = £.015  IDESCRIPTION: 2" GALLERY PUR DOORS 18'2'W (SEE TABLE)
£ Ty LE 0000 = +.001 |DRAWN BY: SH DATE: 1/10/13 | SCALE: NTS DWG.
DESIGN ENGINEER: % 151 v Degrees = *1/2° [CHECKED BY: SH DATE: 1/10/13 |SHEET 3 OF 4 [SIZE
MARK WESTERFIELD, P.E. o SRR RV Unless Stated Otherwise 3
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.€/H91613 DIMENSIONS ARE IN INCHES. [ DWG. NO.: 104821 YR 19

4 “ionas ¢ 3 -~ 2 1



2" TRACK CONFIGURATION.

NOTE: TRACK CONFIGURATION ABOVE THE
DOOR OPENING DOES NOT AFFECT THE
- WIND LOAD RATING OF THIS DOOR.

’ '3

DOOR COUNTERBALANCE SYSTEM

13 GA GALV. STEEL FLAG BRACKET ATTACHED TO
JAMB WITH (3) 5/16" X 1-5/8" LAG SCREWS
AND TO TRACK WITH (2) 1/4" RIVETS.

OPENING HEIGHT

DOOR HEIGHT‘|

AS RQD: SPACING NTE 14" O.C.

2" GALV. STEEL TRACK,
TRACK THICKNESS: 0.083".

63"

TYP. 2-1/2" X 12 GA GALV.
STEEL TRACK BRACKETS,
ATTACHED TO JAMB WITH (1)
5/16" X 1-5/8" LAG SCREW PER
TRACK BRACKET.

HORIZONTAL TRACK
SUPPORT BY DOOR
INSTALLER (TO SuUIT).

2" JAMB CONFIGURATION.

TRACK BRACKET.

PREPARATION OF JAMBS BY OTHERS.

4 3 < Z [
SHEET:

MODELS SHORT LONG MODELS FLUSH 4 OF 4 REVISIONS

e e = REV. NO| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
GHADLLLMEERSY 3 LU, LU CLOPAY CLASSIC | 9202, HDPC20 02 = ¥ - SH SEE REVISION HISTORY ON SHEET ONE.
AR AR2SU AR2LU HOLMES CLASSIC 7202

TDEAL

CHEPERSTHiS ED2SU ED2LU IDEAL CLASSIC | 8202, MFCesU

16 GA GALV. STEEL DOUBLE—END-STILE FASTENED WITH (1) #8 X 1/2" WAFER SCREW.

18 GA. GALV. STEEL CENTER HINGE
FASTENED TO SECTION W/(4) EACH
#14x5/8" SHEET METAL SCREWS.

14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END STILES W/(4) EACH #14x5/8"
SHEET METAL SCREWS AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.

10 BALL STEEL ROLLER WITH STEEL OR NYLON TIRE.

3" TRACK CONFIGURATION.

NOTE: TRACK CONFIGURATION ABOVE THE
DOOR OPENING DOES NOT AFFECT THE
WIND LOAD RATING OF THIS DOOR.

3" JAMB CONFIGURATION.

CENTER HANG REQUIRED FOR

‘ / DOORS OVER 8' HIGH.

DOOR
HEIGHT | "L"
6'— 6 70"
;,-g,, ;g: 1" DOOR OVERLAP (EACH SIDE) —| |—
8'-0"| 88" 2x6 SYP WOOD JAMB. SEE " MiE. OPTIONAL STOP MOULDING BY INSTALLER (TO SUIT).
8—6"] 04" JAMB ATTACHMENT NOTES.
9'-0"]100" i B - Y "
N T END STILE DIM.: 5-3/4 >:I2 1/8 xI 3/8"
10'-0"]112"
10'=6"[118" 2-1/2" X 12 GA GALV. STEEL $
11'=0"[124" TRACK BRACKETS FASTEN5% TO |
11'=6"[130" WOOD JAMBS WITH 5/6" X i
12—0"[136” 1-5/8" LAG SCREWS NOT TO Zy10 LD, ROUND
12'—6" 142" EXCEED 14" ON-CENTER. FASTENER.
13'-0"[148"
13'-6"]154"
14'-0"[160"
14'-6"[166" 2" GALV. STEEL TRACK FASTENED TO
15-0"[172" 12 GA GALV STEEL TRACK BRACKETS o ”
15 —6"]178" WITH EITHER (2) 1/4” DIA. RIVETS OR 2" DIA. 7-1/2" LONG STEM,
16'—0"[184" (1) 1/4" X 5/8" BOLT & NUT PER TION c
SECTION C-—-C

LHR BRACKET (2-1/2" x 5-3/4" x 12GA)

ATTACHED WITH (2) 1/4" x 3/4" SELF TAPPING
SCREWS. NOTE THAT LHR BRACKETS ARE ALSO

USED WITH "DOUBLE END STILE" AS SHOWN IN
ZONE B-3 SHEET 1.

DOUBLE TRACK
LOW HEADROOM OPTION
(AVAIL. FOR BOTH 2" AND 3" TRACK)

DOUBLE HORIZONTAL
TRACK.

TEXAS P.E. #91513

1" DOOR OVERLAP (EACH SIDE) —
2x6 SYP WOOD JAMB. SEE OPTIONAL STOP MOULDING BY DOOR INSTALLER (TO SuUIT).
3" GALV. TAPERED STEEL TRACK AND ANGLE. TRACK JAMB ATTACHMENT NOTES. 16 GA GALV. STEEL DOUBLE-END-STILE FASTENED WITH (1) #8 X 1/2" WAFER
THICKNESS: 0.101". ANGLE THICKNESS: 0.080". HORIZONTAL TRACK SCREW. END STILE DIM.: 5-3/4 X 2-1/8" X 3/8".
B MIN. ANGLE DIMENSIONS 3-1/4" x 2-7/8". SUPPORT BY DOOR N i |
~~__ VERTICAL/HORIZONTAL TRACK 14" MAXIMUM SPACING  NSTALLER (TO  SUIT). 3-1/4" x 2-7/8" MIN. x 0.080" TAPERED _; }
= UM, IO T s e R e ANGLE. SEE LAG BOLT MOUNTING AT TRACK | 18 GA. GALV. STEEL CENTER HINGE
& NUTS FOR EACH TRACK. L K JUNCTION : - ; 1
2 CONFIGURATION BELOW. 7/16" 1.0. ROUND FASTENED TO SECTION W/(4) EACH
= PUSH NUT #14x5/8" SHEET METAL SCREWS.
3 - ADDITIONAL MOUNTING SLOTS FASTENER.
=2 RACER-AE " GENIERS: 0.101" THICK 3" GALV. STEEL TRACK FASTENED 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END
" TO TAPERED ANGLE. TRACK ATTACHED TO STILES W/(4) EACH #14x5/8" SHEET METAL SCREWS
- —12" ON CENTER TAPERED ANGLE WITH ONE 1/4"x5/8" BOLT & AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.,
5 o NUT AT EACH MOUNTING SLOT.
o 3" DIA. 8-1/2" LONG STEM BALL BEARING STEEL ROLLER.
o TION C— MANUFACTURING PRODUCT CODE
proe] "
T z S4 o CUELE TRACIS [EOLTAND (0T AT [EREH PREPARATION OF JAMBS BY OTHERS. DSI-1F471
T A % E ' DESIGN LOADS: +38.0 P.S.F. & —42.0 P.S.F. PART NO.- N/A
4 T TEST LOADS: +57.0 P.S.F. & —63.0 P.S.F. A :
. Y/ il DOLR  RERTAL o Unless Stated Otherwise - ul 8585 Duke Boulevard WINDLOAD RATING
¢ Mason, OH 45040 USA
. 4, L TOLERANCES o | WsIOPAY 1% 21515504500 W6E DP3IST
4 8'-0" | 84" y / 0 = +.031 Building Products Company Fox No. 513-770-4853
’ % 9—p" | 06" ONE 5/16" x 1-5/8" LAG SCREW SPACED AT THE SAME 00 = +.015 T o ~
7 ﬁz = - 10 -0 108 DISTANCES AS THE TRACK BOLTS (LE. 3-1/2", 107, 22", 34", 000 = +.005 DEERIPHION: 21 o ehr FLE DORhS Toe 0 (56, Iae)

’ y = 3-1/2" }3.:8. :gg 46", ETC.). ADDITIONAL LAG SCREWS LOCATED AT 16", 28", & 0000 = +.001 |DRAWN BY: SH DATE: 1/10/13 | SCALE: NTS DWG.
DESi@N ENGINEE@ il o TR0 40" FROM BOTTOM. TWO LAG SCREWS ALSO LOCATED ABOVE Degrees = +1/2° [CHECKED BY: SH DATE: 1/10/13 |SHEET 4 OF 4 |SIZE
MARK W% ER«E[EHU '5 E" d VERTICAL/HORIZONTAL TRACK JUNCTION. Uniess Stated Otharwise

DA PiE.- #484957 NC P.E. #23832, DIMENSIONS ARE IN INCHES.| DWG. NO.: 104821 VER: TDI

FLORI

4

N




